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1. �O59D<F9 CD46<?PAO= BF69F: 

1.In England the compulsory education for 

a. the ages of 3-11 

b. the ages of 5-16 

c. the ages of 12-16 

2.Private schools are 

a. very expensive 

b. not expensive 

3.The < nursery school= is 

a. optional 

b. compulsory 

4.Children enter the secondary school 

a. at about 7-8 

b. at about 11-12 

c. at about 16-17 



5.The comprehensive school is 

a. school which take children of all abilities so there are no entrance exams 

b. school which take children of all not abilities so there are 

 


